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	Topics
	Example
	Solution
	Mastery

	Binomial Probability
	
	
	14 points

	· exactly
	If you roll dice 8 times, what is probability of rolling exactly 3 1s?
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	( 7points

	· at least
	You have a 86% chance of making a free throw.  If you take 12 in a game, find probability you will make at least 10.
	At least 10 is 10,11,or 12.  Find each individually and add.
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…
	( 7 points

	Normal distribution
	
	
	66

	· find probability given z value
	P(z<-.5)
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Look up .5 and find remainder from 50% which is 30.9%
	(22 points

	· find probability given value
	The average SAT score is 512 with standard deviation of 115.  Find probability a student scored more than 600.
	First find Z score 
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Look up .77 and find remainder from 50% which is 22.1%
	(22 points


	· find value given probability
	The average SAT score is 512 with standard deviation of 115.  Find the cutoffs for middle 80%.
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So we want 40% on each side of mean.  We look up .4000 in our chart which comes from a z score of: 1.28

So we want to be 1.28 stddevs on each side of mean. 
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	(22 points

	Binomial Distribution as normal
	You have a 86% chance of making a free throw.  If you take 100 in a game, find probability you will make at least 90.
	So this means we want to make 90,91,92….

Easiest is to use our normal distribution, with our cutoff of 89.5
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Solution: 15.6%


	(20 points








